
Quiz 6 Solution

February 12, 2018

1. (2 points) Find the derivative of y = ln(sinx− secx) +
√
x at x =

π

3
.

Solution: We can’t use log rules to simplify, so we use chain rule to take the deriva-
tive:
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2. (2 points) Find the derivative of y = ecsc (2t+7).

Solution: We use chain rule with outside function eu and inside function csc(2t+7):

y′ = ecsc(2t+7) · d
dt

[csc(2t+ 7)]

= ecsc(2t+7)

(
− csc(2t+ 7) cot(2t+ 7) · d

dt
[2t+ 7]

)
(by chain rule with outside function cscu and inside function 2t+ 7)

= −2ecsc(2t+7) csc(2t+ 7) cot(2t+ 7)

Answer: −2ecsc(2t+7) csc(2t+ 7) cot(2t+ 7)

3. (1 point) Are you planning to take MA 16020?

Answer: Yes or No.


